Phy 4B 4/25

Tuesday, April 25, 2017 7:00 PM

i\I\\rO 5\\)\(& E (2 Cl\'ri < ?o L;_WA.\,\\
wq\r\@Q\M—Q}( A\ WS> O ’ Ww=o \ W Z O
K i s
R =1 ax i T AX %
{:-__—?Dr’_% D——’——B U >
e
o
w - F_ . Q’; ‘pd!‘ [ ngs-\qu«.;‘\_ ‘Q—)/CL
@ “ AJQ}:-\‘\"\M
?,7 o st o=
'-5\ & evo
4 ) 2qus\
w = A&X
C\ l> eri_
) Fes.
'5\ Ne_:)_
(’W (Q§S “'L\«V\
&L D\> Work = AKE /
g ]\ , w,k
No&: ¢ wery” o Y
w}s“i‘
: OK’-Y'
\.
L

New Section 1 Page 1



Q,"\O\

)

New Section 1 Page 2




f(,"\g

Y
®
\J =
Wy
1) 2
Ve
Y y
./
(= O

A» D 3 (‘ac«\r{f

New Section 1 Page 3



o

+ ko@’/// il
S D
X '
3) No
L(\ N o

New Section 1 Page 4

W
1
AV
SRS \
= )iM\/‘GL— 'l—-LW/Z’\‘L

Y (’g%(o'?> Q{owi’
2

- 7.4

-S
~ (0 T

-~

-~ 2.4 xt6 T

-5~
2.4 % to

—

'Z_?‘(O—

_ (>

o\
w?:cd& «,
W, Wo
o
z L\)" (W)
/
2W, Ao
Wo
. oo
) Qo
lo Wo <
wo
Qo
V



cwav  e\adWic ?&‘KQV\AWO\\

E &\ wa.j S (Jalu»’\‘l +9 (

New Section 1 Page 5



